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ARCH 614: Example Note Page for Quiz Use

ENDS 231: Practice Quiz 2

Note: No aids are allowed for part 1. The text (reference charts) and one side of a letter sized
paper with notes are allowed during part 2, along with a silent, non-programmable calculator.

Clearly show your work and answer.

Part 1)  Worth 5 points  (conceptual questions)
Part2)  Worth 45 points

The structure shown is supporting a cable
system with a force due to a mass. (NOTE:
The support configuration for the non-cables
in the system and the slopes of the cables can
be changed for the quiz!)

Using clear free body diagrams, determine:
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b) the support re tlons (w1‘n\d1reéflon)
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